

$\{0, 1, a, a'\}$

1)

+	0	1	a	a'
0	0	1	a	a'
1	1	1	1	1
a	a	1	a	1
a'	a'	1	1	a'

o	0	1	a	a'
0	0	0	0	0
1	0	1	a	a'
a	0	a	a	0
a'	0	a'	0	a'

10acd

$$a) (x+y) + y \cdot x' = x + y$$


$$\begin{aligned} \text{LHS} &= \cancel{x+x} + (y + y \cdot x') \\ &= x + (y \cdot 1 + y \cdot x') \\ &= x + y(1 + x') \\ &= x + y \cdot 1 \\ &= x + y \end{aligned}$$

$$\begin{aligned}
 c) \quad & y'x + x + (y+x) \cdot y' \\
 &= y'x + 1 \cdot x + (y \cdot y' + x \cdot y') \\
 &= (y'+1) \cdot x + (0 + x \cdot y') \\
 &= 1 \cdot x + x \cdot y' \\
 &= x + x \cdot y' \quad (= x!)
 \end{aligned}$$

$$\begin{aligned}
 d) \quad & (x + y') \cdot z = (x' + z')' + (y + z')' \\
 &= x \cdot z + y' \cdot z \\
 &= (x + y') \cdot z
 \end{aligned}$$

$$12a) (x+y \cdot x)' = x' \cdot (y \cdot x)'$$
~~$$= x' \cdot (y' + x')$$~~

$$(x+y \cdot x)' = (x \cdot 1 + x \cdot y)'$$
$$= (x \cdot (1+y))'$$
$$= (x \cdot 1)'$$
$$= x'$$

$$b) x \cdot (z+y) + (x'+y)'$$
$$x \cdot (z+y) + x \cdot y'$$
$$x \cdot z + x \cdot y + x \cdot y'$$
$$x \cdot z + x \cdot (y+y')$$
$$x \cdot z + x \cdot 1$$
$$x \cdot z + x$$
$$x \cdot z + x \cdot 1$$
$$x \cdot (z+1)$$
$$x \cdot 1$$
$$x$$


$$\begin{aligned}c. & (x \cdot y)' + x' \cdot z + y' \cdot z \\ &= x' + y' + x' \cdot z + y' \cdot z \\ &= x'(1+z) + y'(1+z) \\ &= x' + y'\end{aligned}$$

$$\begin{aligned}d) & x \cdot y + x' \\ &= x \cdot y + x' \cdot 1 \\ &= x \cdot y + x' \cdot (y + y') \\ &= y(x + x') + x' \cdot y' \\ &= y \cdot 1 + x' \cdot y' \\ &= y + x' \cdot y'\end{aligned}$$

$$e) \quad x \cdot y + y \cdot z \cdot x'$$

$$y(x + z x') =$$

$$y(x(z + z') + z x') =$$

$$y(x z' + z(x + x')) =$$

$$y(x z' + z) =$$

$$y z + y x z' \quad \checkmark$$